S

REL | o
7 P e WoR k= Qﬁ%ﬂgﬁ, . K. E

......

7&\ . NETT L B
{ /

] ! 5

| \ W?/;,,@J T “A‘é‘rl cTi ok 2
/ ;

{

3 mgh — 20T = LV

L

B 'i i S _:..,,. it ity ]
| Lo /o 0V A - 207
. pr= ) 2(3-8010) — =

]

W



o
g
b
b

\@ﬁﬁ




\7 @% mﬁﬁwﬁé&@%

ooy

=1 M/s

& 2V L L (z}%& 5 (1)
€ = 2




© s , |
§ :§%§4£ﬂ*‘;p>€w‘é‘;ﬁ’w mw&%wgﬁ&%& ‘ M@w&w ey vy «,%;? M tAQJ

L& M@gﬂ )

&

S(en) ¢ = lov -~ 5(Cq) T

P

—
r,@-«z 0T 23 ML

. ,
MréﬁJm%&;f@ = Jiow = );@,zf%

M,?ﬁ"f

® pr (atag)= I8)= 1000T

K.E. {éé%&@ﬁ %(%2% i%(mfﬁ S607T

So Jooe— Sho = | 440 T




/A . .

@ M tﬁm ana S Mﬁ“ﬁ@ﬁ{ 5/‘4‘“ s )
%‘ e Lot~ ‘“‘50 — yrmda- g’@«a@ rna Cﬁ”ﬁ“?ﬁg&
WM@@ wﬁwgﬁ et A M&M@ -

57”*
Bofrie.  Rep= Ao (s) + m4 + 20(2)
L ' =5 T ‘
10 + m + 20

B o 3
U ¢

m(=1) + a5 (3) + 2601
Gp +m + 20

%Mﬁw’% , Ao Ww W %‘Q&{g*} Q,g,,z@{#:\)

A +~ w20z _ -
dol2) 4 ) Op+ +LO

'%f:; F 1 2D
| r — 50 1‘*39&3‘




